3-5 thread rotations
3-5 Gewindedrehungen

f—

1
|
-

Detail A
M1:1

L] HC-drawing number.
[ HC-Zeichnungsnummer:
30-600-013
List of Parts
object | quantity | item no. description german description english basic profile
1 1 603-0007 | DH Schenkel 9x30 gestanzt 35mm RH leg 9x30 punched 35mm 800-1239 / 900-0742
2 1 603-0006 | DH Adapter 8x@7; 100mm RH adapter 8x@7; 100mm 800-1182 / 900-0741
3 1 807-0318 | 4kt Mutter M10 Gleitmo 625 Square nut M10 Gleitmo 625
4 1 806-0349 | 6ktSchr. M10x20; A2 ahnl.DIN6921 hex bolt M10x20
5 1 806-0021 | Hammerkopfschr. M8x25 T-head bolt M8x25
6 1 807-0158 | Sperrzahnmutter M8 Gleitmo 625 locking nut M8 Gleitmo 625
h - 7 1 812-0236 | Verliersicherung M8 PE grau captive M8 PE grey
field of application acceptable tolerance surface |scale . weight
| T T | Verwend%l?\gsbereich Zul. Abw. Oberfl. | MaRstab 1:2 Gewicht 9479 kg/Stk
| | | | J— _
&b Alu RH; 100-7-45; p-ass
_ _ _ _ I — item . date name
‘ ‘ ‘ ‘ g Artikel 02.01.17| prwi Datum Name
thread rotations . -
f | Gewindedrehungen | 04-05.16 | prwi | drawer 20.05.2015 prwi Alu D H ’ 100_7_45’ vm
position nut :
e Position Mutter 27.01.16| prwi | checked 03.01.2017 male
d P 09.12.15| prwi | Engineering ~ [03.01.2017|  sbl
c tightﬁgin%torque 12.11.15| prwi drawri‘ng number index
Anziehdrehmoment [~~~ -—— ; Zeichnungsnummer Index
- - Mounting Systems GmbH - “
_ b t'ghtﬁg'n%torque 24.07.15| prwi A _ | Mittenwalder Str. 9a 707 0048 SN
Uncontrolled when printed tatus Anzrlrfodirf(iece?;igrr]:em date |[name g\}g’t‘enn?sng 15834 Rangsdorf sheet format G
Copyright © 2015 Mounting Systems GmbH Rangsdorf Zust Andeer Datum_|Name Blatt Format A3

3-5 thread rotations

3-5 Gewindedrehungen

(100)

tightening torque 5Nm!
Anziehdrehmoment 5Nm!

~
[3)
[{e]
(9) =
1 3 4
Ve
>
[ee)
IR
(155,3)
(95)




